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بسم الله الرحمن الرحيم
DEPARTMENT OF CIVIL ENGINEERING - KFUPM
Structural Analysis I

CE 305 – 01-2007
Quizzes 4 & 5 (Take-home)
Sunday, January 13, 2008
Name: -----------------------------------                                           ID. No.: ----------------------------------


Score:         / 100
· Study the following statically indeterminate beam structure. 
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a) Use the force method to find bending moment at B ( i.e: use the slope compatibility equation at B).

b) Use the slope deflection equations to solve for C andD.

c) Use the results from part (b) to compute MB, and compare with the results from part (a). [image: image2.png]
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